A, B port size

Thread piping

5 Port Air Operated Valve

SYA3000/5000/7000 Series

How to Order

One-touch fitting (Inch size)

Symbol Port size

Symbol Port size |Applicable series

M5 M5 x 0.8

SYA3000

01 Ve

SYA5000

N3 | One-touch fitting for 05/2"
N7 | One-touch fitiing for 01/4" SYAS000

02 Va

SYA7000

N3 | One-touch fitting for 05/32']

One-touch fitting (Metric size)

N7 | One-touch fitting for a1/4" | SYA5000

@mbul Port size

C4 |One-touch fitting for o4

C6 |One-touch fitting for 66

[Applicable series|
SYA3000

N9 | One-touch fitting for 0346’
N9 | One-touch fitting for 65/46"
IN11] One-touch fitting for 63/8"

SYA7000

C4 |One-touch fitting for a4

C6 |One-touch fitting for o6

C8 |One-touch fitting for 68

SYA5000

Series

3 SYA3000

C8 |One-touch fitting for o8

IC10|One-touch fitting for 210

SYA7000

5 SYA5000

7 SYA7000

Body ported S}
sva

1266

Series
3 | SYA3000
5 | SYA5000
7 | SYA7000

Type of actuation

-

2 position single
(A4 2(B)
-
(EA)5 1 3(EB)
(P)

N

2 position double
(A4 2(B)
> G-
(EA)5 1 3(EB)
(P)

w

3 position closed center
(A4 2(B)
iy M-
(EA)5 1 3(EB)
(P)

I

3 position exhaust center
(A4 2(B)
il L
(EA)5 1 3(EB)
(P)

5]

3 position pressure center
(A4 2(B)
Y Y.
(EA)5 1 3(EB)
(P)

—eThread type

Nil Rc

F G

N NPT

T NPTF
* Except for M5

Bracket

Nil

Without bracket

F1

With foot bracket
(2 position single only)

F2

With side bracket

P, R port
hread type
Nil Rc
F G
N NPT
T NPTF
Port size
Symbol Port size \ Applicable series
Nil Without sub-plate
o1 | & SYA3000
With sub-plate
Vs
02 With sub-plate SYAS5000
|7
02 :
With sub-plat
3/; SR svA7000
03 | With sub-plate




Specifications

5 Port Air Operated Valve S YA 3000/5000/7000 Series

Fluid Air

Operating 2 position single 0.15t 0.7

pressure range 2 position double —100 kPa to 0.7

MPa 3 position -100 kPa to 0.7

Pilot pressure 2 position single (0.7 x P + 0.1) to 0.7 P: Operating pressure range
range Nete ) 2 position double 0.1t00.7

MPa 3 position 0.2t00.7

Ambient and fluid temperature (°C) —10 to 60 (No freezing.)

Manual override (Manual operation) Non-locking push type

Lubrication Not required

Mounting orientation Unrestricted

Impact/Vibration resistance (m/s?) Nete2) 150/30

Note 1) In case of single type, be certain that pressure within operating pressure range be supplied to supply port,
because return pressure is introduced from supply port {1(P)} for activation.

Note 2) Impact resistance: ~ No malfunction resulted from the impact test using a drop impact tester. The test was

performed on the axis and right angle directions of the main valve and armature, when

pilot signal is ON and OFF. (Value in the initial state)

No malfunction occurred in one sweep test between 45 and 2000 Hz. Test was

performed to axis and right angle directions of the main valve and armature when pilot

signal is ON and OFF. (Value in the initial state)

Vibration resistance:

A\ Caution

I N ]

I Be sure to read this before handling the products.
! Refer to page 8 for safety instructions and pages 9
i to 15 for 3/4/5 port solenoid valve precautions.

-
1
1
1
[
-l

How to Order Manifold Base

Same manifolds as SY series (Non plug-in type) are prepared.
(For 20, 41, 42 and 45 Types)

3 3
SSSYA;— Fill the same as SSSY; .

(Refer to the Web Catalog.)

= Specify the part numbers for valves and options together
beneath the manifold base part number.

<Example>
SS5YA5-42-03-02 1 set (Type 42, 3 station manifold base part no.)
+ SYA5140 1 set (Single air operated valve part no.)
+ SYA5240 1 set (Double air operated valve part no.)

= 8Y5000-26-20A 1 set (Blanking plate assembly part no.)
TThe asterisk denotes the symbol for assembly.
Prefix it to the part nos. of the solenoid valve, etc.
Note) When single body ported air operated valves are ordered, manifold mounting
screws and gaskets are not included. Order them separately if necessary.
(For details, refer to the Web Catalog.)

Pilot Pressure Range
(Single pilot)

Operating pressure MP;

0.6 v ! ‘
Pilot pressure
range
0.5 !
©
o
= 04
°
5
2
o 0.3
(=%
3
T 02
L

01 02 03 04 05 086

a

1267



SYA3000/5000/7000 series

Flow Rate Characteristics/Weight

Model/SYA3[120 Series (Body ported)

. . Flow rate characteristics .
Valve model ;‘{5;%” po';"gi‘ze PEREHED 1542 (P> AB) 4/2 — 5/3 (A/B — EAJEB) Wf'?h'
P.EA.EB| A,B_|Cldm¥(sbar)] b Cv Cldm?/(s-bar)] b Cv 9
2 Single 35
sotionl Doubls 0.61 0.44 0.16 064 0.45 0.18 -
Closed center 0.48 0.46 0.13 0.47 0.43 0.13
OEEETE | E"ha‘”St MSX08| 47 0.42 0.13 0.47 [0.44] | 0.41[0.37] | 0.13[0.12]
position Pcen er 39
ressure
oar 0.50[0.41] | 0.48[0.35] | 0.15[0.11] 0.47 0.43 0.13
2 Single 44
vorion] Doubls 072 0.29 0.18 064 034 017 "
Closed center| C4 0.59 0.28 0.15 0.59 0.30 0.15
BiE2R20CH) ;| Exhaust M5x08|M5x08 (Q”e*wm) 0.63 0.35 0.16 0.42[0.41] | 0.34[0.37] | 0.11[0.11]
it center fiting for o4, 48
position 5
ressure
otar 0.76 [0.46] | 0.42[0.34] | 0.21[0.12] 0.59 0.29 0.15
2 Single 40
vorion Doubles 076 0.30 0.19 0.65 0.39 017 "
Closed center| cé6 0.76 0.55 0.24 0.60 0.33 0.16
SiEss2oce) ; |Exhaust <099'1°“°h) 0.65 0.32 0.16 0.64[0.42] | 0.31[0.36] | 0.17 [0.11]
Wion|_center fitin for 6, 44
position 5
ressure
oar 0.77[0.49] | 0.34[0.43] | 0.21[0.15] 0.61 0.34 0.16
Note) [ ]: denotes normal position.
Model/SYA3[140 Series (Base mounted)
- ; - Flow rate characteristics N e
Valve model ac‘(Ethon o nl gitze Port size 15 4/2 (P> AB) 4/2 - 5/3 (A/B — EA/EB) Weight 2!
P Cldm¥(sbar)] b Cv__ |Cldm¥(sbar)] b Cv @
2 Single 69 (34)
N 1.0 0.30 0.24 1.1 0.30 0.26 71.36)
Closed center 0.77 0.28 0.18 0.85 0.30 0.19
- 1
SYA30140-010| , | Exhaust | M5x0.8 6 0.73 0.31 0.18 1.1[0.55] | 0.26[0.52] | 0.24[0.16]
position | _center 73 (38)
Pressure
il 1.2[051] | 0.24[0.45] | 0.29[0.14] 0.89 0.47 0.24

Note 1) [ ]: denotes normal position.
Note 2) ( ): Without sub-plate.

1268




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Flow Rate Characteristics/Weight

Model/SYA5[120 Series (Body ported)

" n Flow rate characteristics a
Valve model | 1YPeOf Pilot Port size 1542 (P> AB) 4/2 = 573 (A8 EAEB) Weight

actuation  |portsize |5 FAFR A B | Clamilsba] b Cv C [dml(s bar]] b Cv ©
2 Single 58
osition| Doubls 1.9 0.35 0.49 24 0.39 0.61 o4

SYA50120-010)[ ™ [ Closedcenter % 1.7 0.43 0.45 1.8 0.35 0.46
position Exhaust center 1.5 0.44 0.41 2.5[1.5] 0.32[0.43] | 0.59[0.40] 69

Pressure certer 2.2[0.91] | 0.46[0.58] | 0.61[0.28] 1.8 0.38 0.46
poton| ca 075 0.43 0.20 0.85 0.64 0.30 &2

SYA50120-C4 |, [Closedcenter One-louch) 0.74 0.40 0.19 0.84 0.57 0.28
posiion| E1aLsLcenter itting for o4 0.75 0.36 0.19 0.84[0.84] | 0.64[0.53] | 0.30[0.27] | 93

Pressure center 1 0.78[0.71] | 0.44[0.37] | 0.21[0.18] 0.84 0.57 0.27
7 | Single |M5X08| ' 76
posttion| Double ce 15 0.33 0.33 2.0 0.37 0.52 &

SYASI20-C6 | | Closed centr One-touch 1.3 0.31 0.33 16 0.32 0.39
posiion| EA1aLscerter (mmg for o6 1.3 0.33 0.33 1.8[1.4] | 0.35[0.37] | 0.44[0.35] | 87

Pressure ceter 1.7[0.80] | 0.31[0.47] | 0.42[0.23] 1.7 0.33 0.44
2 Single 68
| positon| Double cs 1.9 0.21 0.45 23 0.29 0.57 24

SYA5[120-C8 3 Closed center (One-touch \ 1.6 0.29 0.39 1.7 0.38 0.46
> [Exhaust center itting for 08/ 1.4 0.38 0.39 2.0[1.5] | 0.37[0.40] | 0.52[0.43] | 79

P [ Pressure center 2.2[1.6] | 0.32[0.44] | 0.56 [0.44] 1.8 0.41 0.50

Note) [ ]: denotes normal position.

Model/SYA5[140 Series (Base mounted)

i Flow rate characteristics Noe 1) P——
Valve model e Plot | Portsize 1542 (P > AB) 4/2 > 5/3 (A/B — EA/EB) Weight (52
Sctuato porisize C [dmi(s ban)] b Cv C [dm (s bar]] b Cv @
2 | Single 105 (42)
osition| Double 24 0.41 0.64 2.8 0.29 0.66 110 (47)
SYA5[140-0201 3 Closed center | M5 x 0.8 V4 1.8 0.47 0.50 1.8 0.40 0.47
) on [Etass crter 1.4 0.55 0.44 3.0[1.2] | 0.33[0.48] | 0.72[0.37] | 115 (52)
POSMION prgssure cnter 3.3[0.84] | 0.36[0.60] | 0.85[0.28] 1.8 0.40 0.48

Note 1) [ ]: denotes the normal position.
Note 2) (): denotes without sub-plate.

Model/SYA7(120 Series (Body ported)

" . Flow rate characteristics i
Valvemodel | ¥PeOf | Plot | Portsize 1542 (P > AB) 4/2 — 5/3 (A/B — EAJEB) Wf'?ht
P P.EAEB[ A.B | Cldmd(shan] b Cv C [dm?/(s bar) b Cv 9
2 Single 94
ositon| Douls 4.1 0.23 0.93 3.3 0.33 0.81 100
SYA70120-0200( [ Closed oot Ya 29 0.31 0.70 24 0.38 0.63
osiion | EaLsLceter 2.5 0.39 0.65 3.4[21] | 0.35[0.38] | 0.82[0.54] | 110
P Pressure conter . 4.3[2.4] | 0.23[0.32] | 0.97[0.61] 22 0.39 0.58
2 | Single F fort 32 026 077 32 037 082 100
position| Double Va cs ' ' . ' ' ! 106
SYA7120-C8 | [ Cosedcenter | M5 x 0.8 One-touch ) 2.6 0.24 0.63 24 0.31 0.62
° | Exhaust center €A EBpon | iting forod 2.4 0.25 0.57 26[1.9] | 0.42[0.46] | 0.70[0.56] | 116
POSON pragsure center 6 port 3.3[2.4] | 0.28[0.22] | 0.780.57] 2.2 0.34 0.60
2 Single B 97
osiion —Q—Double c1o 3.8 0.26 0.86 3.2 0.34 0.82 103
SYA70120-C10 3 Closed center One-touch | 2.8 0.27 0.67 2.4 0.21 0.59
ssiton| el cenler fttng for 010 25 0.25 0.59 27[2.0] | 0.38[0.38] | 0.70[0.56] | 113
s Pressure center 3.8[2.4] | 0.25[0.31] | 0.89[0.61] 2.3 0.38 0.61
Note) [ ]: denotes normal position.
Model/SYA7140 Series (Base mounted)
. Flow rate characteristics Noe 1) §
Valve model | 1¥Pe O ot | Portsize 1542 (P > AB) 4/2 — 5/3 (AIB — EAJEB) Weight "2
P C[dml(san)] b Cv C [am{s-bar]] b Cv ©
2 | _Single 202 (73)
osiion| Dovbls 4.1 0.41 1.1 41 0.29 1.0 510 81)
SYA7040-02001[ [ Closedcotr Va 3.0 0.43 0.80 26 0.41 0.72
osiion | EX1aLstceter 2.6 0.42 0.71 47[1.7) [0.35[0.48] | 1.1[0.49] | 218 (89)
P Pressure center 5.3[2.3] 0.39 [0.49] 1.3[0.65] 2.2 0.49 0.63
2 | Singe | VOX08 49 0.29 1.2 45 0.27 1.1 202 (73)
position| Double . : ) ) - - 210 (81)
SYA70]40-03 3 Closed center 3B 3.0 0.40 0.80 2.6 0.45 0.73
osiion | EX1aLsLcerter 26 0.42 0.71 48[1.7] [0.35[0.48] | 1.1[0.49] | 218(89)
s Pressure cenler 53[2.3] | 0.31[0.51] | 1.3[0.64] 2.3 0.45 0.66

Note 1) [ ]: denotes the normal position.
Note 2) (): denotes without sub-plate.

1269



SYA3000/5000/7000 series

Dimensions/SYA3000 Series: Body Ported

2 position single
SYA3120- 3 N3(-F2)

49.6 One-touch fitting
a4 (A, B port)
";'15 x0.8 Applicable tubing O.D:: 04, o1/4"
(Pilot port) =Sy ’—"r‘ﬁ::Z @ 06, 85/32"
ST s |
Y&
2x02.2
102 (For manifold mounting)
21.4
(2 x 3.2 for mounting) 85
27) &
r * ]
=t
T g
|
|
il ~ ——l |
| & i i ih @
8§ _ ' | | 8
b o 3 2
5 2 l Tl T
T T
Manual override 225
(Non-locking)
o
3

(Ventilation hole)

t 1 ﬁ.
%

10

(15)

M5 x 0.8
(P, EA, EB port)

2 x #1.5 die-cast hole
(For manifold gasket positioning)

1270

Foot bracket
SYA3120- &2 N8-F1

Manual override

(Non-locking) @
}
T 1%, ol 3
1 rM " E
%k
2x@3.2
10 (For mounting)
31 35
38
21.8
1 ©
185 75
@2 | | 411
SYA3120-M5
M5 x 0.8
(A, B port)
TES AT
I
@ | 0
& '! 2l 8| =
|
22.5




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA3000 Series: Body Ported

2 position double

SYA3220- gg: Ng (-F2) 54.2 One-touch fi
M5x 0.8 sopkoto LAg oL
- - pplicable tubing O.D.:
(Pilot port) @
Pas)
v
2x02.2
(For manifold mounting)
2 x ©3.2 (For mounting) o a
- - )
. L
H +) T T i- =
| 1 1
I
Manual oyemde i i il
(Non-locking) | - i I ©
= i I * i
DI & ‘ i ©
I

013
(Ventilation hole)

2 x #1.5 die-cast hole

(For manifold gasket positioning)

(P, EA, EB port)

3 position closed center / exhaust center / pressure center

3
SYA3g20-8§; N3 (-F2) 627
271
s a0 One-touch f
- (A, Bpot
M§ x0.8 Applicable tubing O.D.:
(Pilot port) eIy | ayEs @
N 2 I
YA | S
102 _‘ 2x022
014 (For manifold mounting)
&
)
;
roEEEe
o1 =3
SnElg
Manual o\./emde i - 1 Tl | +
(Non-locking) T e 4 b=
= | ¢
= [
_QI = i b
T
01.3 2
( ion hole) |
et

2 x ¢1.5 die-cast hole
(For manifold gasket positioning)

X
M5 x 0.8

(P, EA, EB port)

fitting
)
o4, 01/4"
06, 05/32"
SYA3220-M5
M5 x 0.8
/" (A, B port)
T A
gy s (N R IR T Ve
o ‘ ! o
] I @ o
) | il
T T
tting
)
04,01/4"
06, 05/32"
3
SYA3g20-M5
M5 x 0.8
(A, B port)
et -
[ A
@ ol ml &
. | i
T

1271



SYA3000/5000/7000 series

Dimensions/SYA3000 Series: Base Mounted

145 1325
2 position single
o
SYA3140-010] 2
«( + } ~< + )—
) []
[
T
35 49.6 2x@3.2
Manual override w“ (For mounting)
(Non-locking)
35 5
: gaﬁii
b &
4 NI o
pid g;l__
®
M5x0.8
(Pilot port) 4 2
.
0
1
o |
€ 3
f”} ¥
10
14 —OTq
/ \
2 1 1
ok 1/
Ventilation hole 205 m
145 13.25
2 position double
SYA3240-010] a
O
S == TE
]
1 1
] |1
. 542
43 2x03.2
1o Manual override (For mounting)
(Non-locking) 35 3
it}
R E @1 ;
_ d T =N @
| hd
5
M5 x 0.8 ‘
(Pilot port) 41
T
1 L
= [
o
L OTR
© 4
N £
Ventilation hole 2 11 "
205 18
(Piping port)

1272



5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA3000 Series: Base Mounted

3 posigion closed center / exhaust center / pressure center
SYA3g40-01 O

)
o
Q0
B! ]
|
} f
(I
35
62.7
Manual override 2x032
(Non-locking) 35 3 (For mounting)
‘ T ’1\
.8 | D §
i & b %r\ @
|
[ B ©
M5 x 0.8 4‘2 9.5
(Pilot port)
15.1
-
; 1
1 [
1
Q|
. &
g 2 / f'} @
2 / k 1
2 1| 11
i 1/8
Ventilation hole . 205 (Piping port)

1273



SYA3000/5000/7000 series

Dimensions/SYA5000 Series: Body Ported

2 position single Foot bracket
SYA5120-&8, N3 (I(-F2) SYA5120-E¢, Ny C-F1
€8, N9 C8) N9
70.6
63.1 il
M5 x 0.8 , . ® 38
(Pilot port) _ i < i =
N GENEN 3
A4 J: = |

© =
o & &

M [ e
14.5 \ U«_ )*ﬁ

One-touch fitting 36 2x03.2 '
(A, B port) For manifold mountin
Applicable tubing O.D.: 04, 95/32" ¢ o N 11.6
06, 05/16" Normal override, - 2x03.2

08, 01/4" (Non-locking) (For mounting)

25
4s) 2x03.2

(For mounting)
37 —

=
<

,7
(8

@ P o
-

ﬂ\_ﬂ
— V‘

B
m
ﬂ

Manual override
(Non-locking)

4.9) 404 ‘ 10.

o
¥ &)
115
(40.2)
(36.7)
25
o
8
il e
_
205
23
40.4
]
1.2
RE]

1.8 27.2
(Ventilation hole) ©

N B

il
N ANYA) f -
2 x 92.2 die-cast hole / ' '

(For manifold gasket positioning) 1/8
(P, EA, EB port)

0.8

(20)

SYA5120-010]

1/8
162 (A, B port)
= o=
[T
n 1
rs
¢ | 3
« | o 8
&
1E
T
32.3

1274



5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA5000 Series: Body Ported

2 position double

SYA5220- &8 Ny CI(-F2)
C8,N9

76.6
61.6
M5 x 0.8 - ) o
(Pilot port) i i =
5 LY S
N ST
One-touch fitting 145 2x03.2
A, B port) i
Applicabl(e rubinpg O?D‘: 04, 05/32" % (For manifod mounting)
06, 01/4"
08,05/16" @) 2x03.2
a7 (For mounting) g
H <~> | 1 < 5
I 1 | hlj de=a
L Ty
5 @ . g | e
= w0
Ing 4y
I g | g
T
e 1/8
Manual override 01.8 - (P, EA, EB port) ©
(Non-locking)  (Ventilation hole) ‘ @ °
Y B A A8 .
- -
: B ] ‘

2 x ¢2.2 die-cast hole
(For manifold gasket positioning)

3 position closed center / exhaust center / pressure center

SYA5320-86 Ny CI(-F2)
5 C8,N9

SYA5220-011

1/8

162 /" (A, Bport)

T j —)
EERP
| ! ,,é 9 ]
|l
T T
stsgzo-om
1/8
16.2 (A, B port)
[ I Il
1 I
— ] | — |
i |
| g &
| g
38.3

89.2
2xM5x0.8 08 454 N
(Pilot port) . N , =
1
5 1S ,J\(ﬂx i
EATAT &Y
145 2x03.2
One-touch fittin 36 (For manifold mounting)
(A, B port)
Applicable tubing 0.D.: @4, 85/32" ox03.2
06, 91/4" . &
08, 05/16" (For mounting) ;
= S e
N EEEEEE
i | e L
5 CERE: i :
1 4 R 1 2l &
&
s | d
' T
Manual override #3
(Non-locking) 272
018 o 2
(Ventilation hole) = -
P WaESH R
) / AN AN/ ®

" et
2 x @2.2 die-cast hole '

(For manifold gasket positioning)

1/8
(P, EA, EB port)

1275



SYA3000/5000/7000 series

Dimensions/SYA5000 Series: Base Mounted

2 position single
SYA5140-020]

g

Manual override
(Non-locking)

2 position double
SYA5240-02(]

47.5

5y
e

'/ Manual override
(Non-locking)

1276

: S
Pl
1
| g
— T T
2x04.3 70.6
(For mounting) 63.1
- 48 83
[ | Y
SRR
&5 %} —l = 3
il | ol
[F

M5 x 0.8
(Pilot port)

43

il

[

Ventilation hole / o
+ J &
3
18 18| 1/4
28 (Piping port)
18 19
D —
u@
’ |
[
I :
S 1
766
2x04.3
(For mounting) 61.6
48
]
& o
1
m = =l m @
=) =} @
i L elY
M5 x 0.8 [F]
(Pilot port)
56
]

Ventilation hole /

Y

kN
)
@

1/4

(Piping port)




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA5000 Series: Base Mounted

3 position closed center / exhaust center / pressure center

3
SYA5440-02[]
5 18 19
S0
i s
| 1
T T
47.5
o __2x043 =
s (For mounting) 8 4
i
N o @ & ¥
. \
-—‘Q}@E} o %j | & -—1— 8
p / | ®
[ @
M5 x 0.8
(Pilot port) 58.8 154
Manual override
(Non-locking) 22.9

Ventilation hole / -
+ + e &

mI

5,

1/4
56 (Piping port)

1277



SYA3000/5000/7000 series

Dimensions/SYA7000 Series: Body Ported

2 position single Foot bracket
SYA7120-85,"}140(-F2) SYA7120-85,N%,4 C-F1

57
46

M5 x 0.8 775
(Pilot port)

o o PN
e====an cFe==== 4
5 e
NIz g M ] [ 28
| ‘ = MH el |1
One-touch fitting 19 ; 2x04.2 P&
(A, B port) 42 (For manifold Manual override 15 |7 2x04.2
Applicable tubing O.D.: @8, 85/16" mounting) (For mounting)
210, 23/8"
(66)
2x04.2 (52) o
(For mounting) Q|
EEa= 30
@ | © - |
g4 [ P g
8 28 4 ©
© N —
Hloe s
Manual override 39.4 Hi, o D 2
018 1/4 i
(Breathing hole) (P port) o SL
o,
[N ] R 9 [Y.s 55) 476 ‘1;5
o pRes | FTh g ) ' -
U=
2 x 92.2 die-cast hole 7é 1/8
(For manifold gasket positioning) (EA, EB port)
SYA7120-020(-F2)
1/4
(A, B port)
20
I 1 [
[ 3
P2 s
L]
2 (=}
5
3 =S
N
39.4

1278



5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA7000 Series: Body Ported

2 position double
SYA7220- &5,%410-(F2)

2xM5x0.8 76.2
(Pilot port)

One-touch fitting

(A, B port) 42 (For manifold mounting)
Applicable tubing O.D.: 08, 95/16"
210, 23/8"
(66)
2x04.2 (52) ol
(For mounting) ©
===
¢
> G-
3 j S,
g q " 5
g4d . s SYA7220-02(1-(F2) "
« <
L) @ N (A, B port)
20
Manual override f
2x01.8 1/4 o | o —
(Breathing hole) (P port) ° ! g
SosaT |
B 3
EA P “AEl oJ <
::i};tp E=p1 I o N
2 x 92.2 die-cast hole 36 1/8
(For manifold gasket positioning) (EA, EB port)
3 position closed center / exhaust center / pressure center
C8, N9
SYA7420-E8%;,00-(F2)
109.7
48.1
2xM5x0.8
(Pilot port)
One-touch fitting
(A, B port) 4 (For manifold mounting)
Applicable tubing O.D.: 28, 85/16"
210, 03/8"
(66)
2x04.2 (52) @
(For mounting) o
== =
A
s 5
3
a @ SYA7220-0201-(F2)
o| © i3] ~ 5
I o <
I3 @ 1/4
a N (A, B port)
Manual override'\
2x01.8 1/4
(Breathing hole) (P port) g —
=
N R Salsl g L
AN [t g ° ]
g = - i
2 x 2.2 die-cast hole 36 1/8
(For manifold gasket positioning) (EA, EB port)

1279



SYA3000/5000/7000 series

Dimensions/SYA7000 Series: Base Mounted

2 position single
SYA7140-3300

2 position double
SYA7240- 3201

3/8, 1/4

0
(A, B port) 5'—’
ARV
NDAND
a3
H
57 775
42 61 104
I M5 x 0.8 \Jﬂ
- (Pilot port) { - v &
Wiz Lr® -4 o o
I &l |
Manual override [ ‘ EA P EB
21 69 6.4
2x04.3
(For mounting) 87.5
—
oy =
LT
01.8 / K \ / \ X
(Ventilation hole) N I\ &
3/8, 1/4 20.5 | 205 i 4
(P, EA, EB port) a3 M
3/8, 1/4 21 225
(A, B port) 5'—’
AVan
NDAND
a3
H —=
57 714 5.1
42 61 4
) 2xM5x0.8 T ,L
. (Pilot port) { . v 8
T DI I
I &l
Manual override % } EA P EB
L2 69 15.1
2x04.3
(For mounting) 96.2
R
oy =
Rzt
T
2x01.8 / /dhY 71N o
(Ventilation hole) kj kj N
38, 1/4 205 | 205 23
(P, EA, EB port) 3 T

1280




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA7000 Series: Base Mounted

3 pos;tion closed center / exhaust center / pressure center
SYA7240-3201
5

3/8, 1/4 21 225
(A, B port) ©
aAVan
\J W |
a3
Rzt
—
57 711 18.6
42 2xM5x0.8 61 4
(Pilot port) —‘
— 7
{ v a Nd
ny T
NEZN PN N N P
I S
Manual override [ ‘ EA P EB
21 2x04.3 69 28.6
(For mounting) 109.7
]} |
Rzt
T
2x01.8 // /N /,\\’ \ 9
(Ventilation hole) S\ W W/ NI «
3/8, 1/4 20.5 | 20.5 o) 2
(P, EA, EB port) a3 -

1281



	5 Port Air Operated Valve: SYA3000/5000/7000 Series
	How to Order
	Specifications, How to Order Manifold Base
	Flow Rate Characteristics/Weight
	Dimensions/SYA3000 (Body Ported)
	Dimensions/SYA3000 (Base Mounted)
	Dimensions/SYA5000 (Body Ported)
	Dimensions/SYA5000 (Base Mounted)
	Dimensions/SYA7000 (Body Ported)
	Dimensions/SYA7000 (Base Mounted)

